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T 529 H& TE 559 H&
1 DA A AW|200 F 201406 26.96 6 ESN| |2 HA 2.50
2 E|HE EMeed) 9.78 7 T4 CIH LA 246
3 T\ ME dlsh2 ) 3.99 8 KAFA Y oA 0Z 245
4 F4 STt 3.32 9 T4 HACHAL 2.24
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Pge 7| g7
- =4 H & =4 H &
KA 2 A} 249 0.45 393 0.44
THOf S| A 624 112 983 1.11
HET A 2T AHAEFRIRY) 6 0.01 10 001
QLA BHR| 3| AL 6 0.01 10 0.01
23 886 1.59 1,396 1.58
7| EHH| &** 2 0.00 258 0.29
oo CHEOiO). S L4 257 046 453 0.51
=M 5“%&%{% S 32 0.06 94 0.11
anz MH[A =58
SHA| 289 0.52 547 0.62
SHAENAM 61 0.11 171 0.19
AL 2 A 2 045 14 044
ThO S| A 4 0.93 29 0.92
H C X A 2ES| AHAL EFRI X 0 0.01 0 0.01
UHIALR 22| 2 AL 0 0.01 0 0.01
EES ¥ 5 141 44 1.39
7| EtH| &** 0 0.00 5 0.15
ChaOfOf. S 742 2 041 17 0.53
Uil EESTET T
=74 MHA Aoz 0 0.06 4 0.11
S
A 2 0.48 20 0.64
SHAHM 0 0.07 7 0.23
KA 2 A 2 045 2 044
ZHOH 2| A 3 0.74 3 0.73
H C X A 2ES| AHAL EFQI X 0 0.01 0 0.01
LHIALE 22| D AL 0 0.01 0 0.01
20 4 1.21 4 1.20
7| EFH| &% 0 0.00 1 0.37
oy Cheojo). B8 2 0.47 2 0.51
=4 f:fjgij 0 0.06 0 0.10
SR
A 2 0.52 2 0.61
SHAZA 0 0.11 1 0.18
KA AL 30 0.45 34 0.44
EHOf 3| A 0 0.00 0 0.00
H C X A TS| AHAIEFOI XL 1 0.01 1 0.01
LA 22| 3| A 1 0.01 1 0.01
20 31 0.47 36 0.47
7| EtH| 8** 0 0.00 26 0.33
ChaOfOf. 7442 31 0.47 39 0.51
A VY=
=4 MH|A Aoz 4 0.06 8 0.10
S8
A 35 0.52 47 0.61
SHAHAM 7 011 14 0.18
A28 AL 42 0.45 40 0.44
ZHOf 2| A 2 0.03 2 0.03
HET A 2T AHAEF IR 1 0.01 1 0.01
UHIALE 22| 2 AL 1 0.01 1 0.01
23t 47 0.50 44 0.49
7| EFH| 2 ** 0 0.00 23 0.25
CHAOfO) S48 44 047 47 0.52
A EESTETer=
SN Mb|A 2oz 5 0.06 10 0.11
SR —
oA 50 0.53 56 0.62
EE e 11 0.11 18 0.20
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KA 2 A} 45 0.45 76 0.44
IO S| A 2 0.02 4 0.02
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I 7| EpH| &% 0 0.00 58 0.34
oo CHOiOf. 74548 46 0.46 86 0.50
=0 f:fffif 5 0.05 17 0.10
TR —
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E T E L 11 011 31 0.18
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w o) 0.6322 0 0.7744 0.8503
7| 0.6718 0 0.6933 0.8214
F o) 0.6697 0 0.7811 0.8232
7| 0.6624 0 0.6735 0.881
! o) 0.6623 0 0.8225 0.8603

F1) S22 44| 8H|Z(Total Expense Ratio)0|2t 28E 4 & HEMM REI}E B4/t 7|EHH|E SUS =AM FHTUH(ES-HIE AT 7|

oL T
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